



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{1}{3} + \left(\frac{1}{4}\right)^2\right) \times \frac{1}{4} - \left(\frac{1}{5} + \frac{3}{2}\right)^2 =$$

$$\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{3}{5} - \frac{3}{5}\right)^2 =$$

$$\left(2 + \frac{3}{2}\right)^2 - \frac{1}{5} \times \frac{1}{3} + 4^2 =$$

$$\left(5 + \frac{1}{2}\right)^2 + \frac{1}{6} + 3^2 + \frac{1}{4} =$$

$$\left(2 - \frac{2}{5}\right)^2 + \frac{2}{5} \times \frac{1}{3} + 2^2 =$$

$$\left(5 - \frac{3}{4}\right)^2 - \frac{1}{3} + \frac{3}{2} + 2^2 =$$

$$\left(\frac{3}{2} - \frac{3}{4}\right)^2 - \frac{1}{6} \left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(2 - \frac{1}{6}\right)^2 - \frac{1}{6} - \frac{1}{2} + 2^2 =$$

$$\left(\frac{3}{2} - \frac{1}{2}\right)^2 - \frac{3}{2} \left(\frac{2}{5} - \left(\frac{3}{5}\right)^2\right) =$$

$$\left(\frac{1}{2} - \left(\frac{3}{5}\right)^2\right) \times \frac{2}{3} - \left(\frac{2}{3} - \frac{1}{2}\right)^2 =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{1}{3} + \left(\frac{1}{4}\right)^2\right) \times \frac{1}{4} - \left(\frac{1}{5} + \frac{3}{2}\right)^2 = \left(-\frac{13397}{4800}\right) = \left(-2\frac{3797}{4800}\right)$$

$$\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{3}{5} - \frac{3}{5}\right)^2 = \frac{31}{108}$$

$$\left(2 + \frac{3}{2}\right)^2 - \frac{1}{5} \times \frac{1}{3} + 4^2 = \frac{1691}{60} = 28\frac{11}{60}$$

$$\left(5 + \frac{1}{2}\right)^2 + \frac{1}{6} + 3^2 + \frac{1}{4} = \frac{119}{3} = 39\frac{2}{3}$$

$$\left(2 - \frac{2}{5}\right)^2 + \frac{2}{5} \times \frac{1}{3} + 2^2 = \frac{502}{75} = 6\frac{52}{75}$$

$$\left(5 - \frac{3}{4}\right)^2 - \frac{1}{3} + \frac{3}{2} + 2^2 = \frac{1115}{48} = 23\frac{11}{48}$$

$$\left(\frac{3}{2} - \frac{3}{4}\right)^2 - \frac{1}{6}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) = \frac{79}{144}$$

$$\left(2 - \frac{1}{6}\right)^2 - \frac{1}{6} - \frac{1}{2} + 2^2 = \frac{241}{36} = 6\frac{25}{36}$$

$$\left(\frac{3}{2} - \frac{1}{2}\right)^2 - \frac{3}{2}\left(\frac{2}{5} - \left(\frac{3}{5}\right)^2\right) = \frac{47}{50}$$

$$\left(\frac{1}{2} - \left(\frac{3}{5}\right)^2\right) \times \frac{2}{3} - \left(\frac{2}{3} - \frac{1}{2}\right)^2 = \frac{59}{900}$$